SO teore 112 Quiz3 fon

You may find the Sollowing table helpéul if you did not bring a caloubstor for the quar
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1. The right trisesghe ABC i shown bolow. where B is the vight seghe nod sgle C is 60
degrees. This disgram s wof 1o scale. Find the folovng:

(n) [1] the swensare of ZBAC

() [2] the moamico of side T
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3 The rigln trisagle XY 2 & shown holow, whore V' ois the vight anghe. This Sagram s
wot 10 soale. Answer the questions below,

(o) [1] Find cosl Z) X‘
)=y 1o

)
&

(&) 1) Fend taniZ) Sqrt( 2)

Ao (2 V3
SR ¢ J )

.

le} 12] Fiod the mensure of 22. ™ B

Oe Mve - e

Y {
RS sqrt(2)
-3 7 .48°

i 1O ‘ - A ‘(-’ d «'. < W, A 0N .f_‘_t
33 Mentily o progerty, charscteristic, attitude, metbod, or philmophy that both o
schvttnt aeud & et hesmatician woskd agxoe ou.
i LLAON e Gues AN s bnigd
- \ .
\\~.. - \vs AN '\\.‘ W 5 | NS L -

1 3 ety o property, characteristic, sttstnde, method, or philsophy that & soentist
holds that b differenn thas 4 ssatbesnaticdan's

TR \ " o~\..e.-.\| -
. \"\\ " jl ' ‘. ' . | ‘ -
1 | N = ’ ¥ & LA WV ) '
5 (1] What s it thw Laag calls “poist splitting”*
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